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1How many electrons are there in the third cell of the
copper atom? | diedTAT 37U faa=am deTred fodt
SAGTI AHdTA?

A8

B13

c18

D 29

Answer: C

2 Which is the semiconductor material? | 3rEfgargd arsft
PIUTCT 3TE?

A Eureka | gl

B Ebonite | TaHTsC

C Manganin | 9319

D Germanium | STHfATH

Answer: D

3 What is the indication of neon polarity indicator used
for checking A.C. supply? | R8T dURHUATHTS! dTiRedT
STTOTRAT 391 UleiRet SfSdbed Hbd 1 3mea?

A Both electrodes will glow | 1l SaldRIS THGBAT

B Only one electrode will glow | Tt TP SAdRIS TH®BA
C Both electrodes will be flickering | 1€l SAdRIs 31fAR
HGIGH

D One electrode will glow and another will be flickering
| B Seidm1s THbA 30T GaRT 3R Bt

Answer: A

4 Calculate the electrical energy in unit consumed by

500W lamp for 5 hours. | 5 aTFiET3t 500W famgR
ATRET ST GfAereiter faegla 3steit TomHT &,

A 0.5 unit

B 1.0 unit

C1.5 unit

D 2.5 unit

Answer: D

5 What is the value of hot resistance of a bulb rated as
100W/250V? | 100W/250V 318 I et deaT TRA
YfABRI Je BT 3Te?

A 3125 ohm

B 62.50 ohm

C 312.50 ohm

D 625.00 ohm

Answer: D

6 Which law states that in closed electric circuit, the
applied voltage is equal to the sum of the voltage
drops? | BYUTAT BRIGT FiTTAY &t FellsT Seifdres Gfdheres,
feoial DR & FlesT 31U =T RASAD 3[A?

A Ohm's law | 3ftewar fAaw

B Laws of resistance | fd®Rm fAaw

C Kirchhoff's first law | fdsaTtaT afeéar &rIer

D Kirchhoff’s second law | fdsaftaIT gERT BrICT
Answer: D

7 Calculate the total power of the circuit of two lamps
rated as 200W/240V are connected in series across 240V
supply? | 200W/240V 3/ 3¢ deiedr e 1F feaear afdbe
240V RISITR Hifeidsd SiiSeieil 3118, dR TPpUT 2Ithl BIaT ?
A50W

B100 W

c200W

D 400 W

Answer: B

8 What is the formula for the equivalent resistance (RT)
of the three resistors R1, R2 & R3 are connected in
parallel circuit? | THTaR Afdbered R1, R2 3107 R3 AT ol
UfaRiebicar aaged UfdME (RT) AT g3 B 3178?
ART=R1+R2+R3

BRT = —+—+—

CRT=—0 —

DRT =+

R1+R2+R3
Answer: D
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9 What is the reading of ohmmeter across opened ‘R2’

resistor? | 3TSaledT 'R2" IFEReR 3Nwwtea AT B 3mR?

A Indicate zero reading | QLR’IEITﬂ?T?.’QfEIT

B Indicate infinite resistance | 3d Ufd®R gefar

C Total resistance value of the circuit | Tfdsed TpoT
UfdbR e

D Value of sum of the resistance of R1and R3 only | %da®
R1 31107 R3 =T YfdbRI=AT S5 Hod

Answer: B

10 What is the change of resistance value of the
conductor as its diameter is doubled? | BSFTT A
QUIC SITedTHod Tl UfdbR HedTHED BT dadl glal?

A Increases to two times | I U¢ d1edl

B Decreases to four times | IR U< HHT Elal

C Decrease to half of the value | JeaTeaT fArmadd wHT
Gy

D No change in value of resistance | ﬂﬁEFR'IwTW
gcol ATet

Answer: B

11 What is the name of the resistor? | IEe 71T BT
3Te?

A Metal film resistor | Acet fioer 3R

B Wire wound resistor | aRR d1%3 TR

C Carbon - film resistor | &T& - foeH IFR

D Carbon composition resistor | BTET BIUIERA e

Answer: B

12 Calculate the resistance value of the resistor by colour

coding method. | HeR BT Ugdin Ysiceean s~
E et IO B

A23x103W £5%
B 26 x 103 W +10%
C32x104 W +10%
D 37 x104 W = 5%

Answer: B

13 Why the ohmmeter is graduated with non-linear

scale?| 3NHHIR A-fAfIR Therae &1 311e?

.3
0k
=,

A Voltage is directly proportional to resistance | @leesT &
UfdBRIAT A YATOT 314

B Current is inversely proportional to resistance | #<c &
UfABRIAT IId YHIUTI 31T

C Resistance is inversely proportional to the square of
current | UfaRIE® YdTETAT aoTiT ¥ YHIOTIA 3178

D Voltage is directly proportional to the square of the

current | @lees faeg]d warer=an aofeit e gHOTd 31T

Answer: B
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14 Calculate the value of unknown resistance ‘RDC’ in
the Wheatstone bridge network, If PAB = 500W, QBC =
300W, SAo = 15W, at balanced condition. | @teeH &1
Acadsheitel 375 YfdeR ‘RDC’ =T HedTei! IT0MT BT, 5R
PAB = 500W, QBC = 300W, SAo = 15W, ddfcid feidta.

A12Q
B9Q
c6Q
D3Q
Answer: B

15 Which material is having negative temperature co-
efficient property? | BTN ATHITHED TBRIHSD ATTH
HE-brIer TOTEH 31a?

A Mica | 3Y®

B Eureka | g1

C Copper | did

D Manganin | WA

Answer: A

16 What electrical quantities are related in Ohm'’s law? |
A Current, resistance and power | JidaTg Ufd®R 3ot rcht
B Current, voltage and resistivity | &3¢, c@leest 3o
ufddedsdr

C Current, voltage and resistance | @3¢, @leesT 31101
e~

D Voltage, resistance and current density | @loesT,
UfdeR 31f0T B TaT

Answer: C

17 Calculate the value of resistance ‘R2’ in the parallel

circuit. | FATR Afbereia Ufaierd 'R2' A 4o |

' R ;=80
—J
Rp=?
~b —
| IS
R3=30 |
1=15A/] % L F
24V
A2Q
B4Q
c6Q
D8Q
Answer: C

18 What is the effect of the parallel circuit with one
branch opened? | T RAT 3TSIRT JHIAR Afdbea BT
gfRoTH Edr?

A Current will remain same | &3¢ T A&l

B Whole circuit will not function | Tquf @fdse BRf TR
G|

C No current will flow in that branch | T MRdd fagd
JaTE JUIR ATEL

D Voltage drop increase in the opened branch | 3g8aedr
R EleesT g 18

Answer: C

19 What is the unit of resistivity? | UfaRlE[bdd Thd BT
3Te?

A ohm / cm | 37tgq / 9+t

B ohm / cm2 | 3ign / @t ot

C ohm - metre | 31&H- iR

D ohm / metre | 37igH/ Hie?

Answer: C
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20 Which type of resistor is used for Arc quenching
protection in circuit breakers? | dfdpe SpAed 317dh
AT MEIRAATST BIVTT TBRA AT ATRA STTa?
A Varistors | @R¥X

B Sensistors | A%

C Thermistors | A<

D Light dependent resistor (LDR) | @Tse f3t3e Ifae?
(LDR)

Answer: A

21 Calculate the value of resistance by colour coding

method. | BeR BIET TgdA AsRe~Ta 7o AT,

A 22 x103 £10%
B 23 x 104 + 10%
C25x103 5%

D 36 x104 + 5%

Answer: C

22 Calculate the unknown resistance “RDC” in the
Wheatstone bridge circuit, if PAB=400 ohms, QBC=200
ohms and SAD=12ohms at balanced condition. |
PAB=400 ohms, QBC=200 ohms 31Tf0f SAD=120hms
wafera fRidta sricar, @tewd fist afibemeite srma
AfdeR “RDC” <t IT0HT 3.

A4Q
B6Q
c8Q
D12Q
Answer: B

23 What is the reading of the voltmeter V? | @lecHieR V

=

AoV
B6V
cov
D18V
Answer: D

24 Which is the application of series circuit? | I
Tfdsear aTR HoTar 3R?

A Voltmeter connection | @leeHIeR BATM

B Lighting circuits in home | ERTdlel elTsférT afdeq

C Shunt resistor in ammeter | 3iffie 7ed) 2@ AR

D Multiplier resistor of a voltmeter | @lecHIcIT 0T
At

Answer: D

25 What is the effect on opened resistor in series circuit?
| THR5T afhered saseiear IsieRar & IRoTH gar?

A No effect in opened resistor | 3TsAT AeiTeHed
PHIoTATE! YHTT ATET |

B Full circuit current will flow in opened resistor | q;Uf
Tfthe Bie Iasaiedn AseAed ared

C Total supply voltage will appear across the opened
resistor | 3TSICAT ASTEEIR TPHUT R3] @leest fedet

D No voltage will appear across the opened resistor |

3TSATT ISR @loesT fequR ATEt

Answer: C
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26 Calculate the resistance value in R3 resistor. | R3

fsieeneiter AsiEe~ Eegt T0MT 6.
S B
o i
o
= ey -

A 4 Ohm
B 6 Ohm
C 8 Ohm
D 12 Ohm
Answer: D

27 What is the effect of the circuit, if ‘ab’ points are
shorted? | 'ab' foig Tt deaTd Afdhear BRI uRoTH gar?

DGR

1

]
A Circuit resistance will be zero | Gftsean UfAdR =T
3-8
B Same current will flow in all branches | < Maime
Y YT drediet
C Supply voltage will exist in each branch | qRadT @leesT
TP 2ARAd -
D Total circuit current is equal to each branch circuit
current | BUT Afdhe TATE T ARIAT Afdbe dicean THH
e

Answer: A

28 What is the name of the resistor if its resistance value
increase with increase in temperature? | ATIHM dIEIGE
UfaRed Hed aIeedd AT ATd B 3-el?

A Varistors | @R¥R

B Sensistors | <Gy

C Thermistors | <G

D Light dependent resistor (LDR) | @Tse fSu3e IfzeR
(LDR)
Answer: B

29 What is the formula for Quantity of electricity (Q)? |
fas=an YHIOTRI (Q) ¥ & 3Te?

A Current x Time | 3¢ x d&

B Voltage x Current | @leesT x B

C Current x Resistance | #3¢ x UfdbR

D Voltage x Resistance | @5l x UfdbR

Answer: A

30 What is the unit of conductance? | dTehdd Thd B
3Te?

A Mho | HIg

B Ohm | 371gH

C Ohm-m | 31gq - t

D Ohm/m | 3ftgq/Ht

Answer: A

31 Which one defines the change in resistance in Ohm(Q)
per degree centigrade (°C)? | 3fter () ufd f3it I3 (°C)
HejteT UfdBRId T sIeel BIuTdT 3Te?

A Temperature effect | dTUHIT YHTd

B Laws of temperature | aTIHHETR a9

C Temperature constant | arqHH 2R

D Temperature co-efficient | dTIH T&-BrRI&H

Answer: D

32 Which type of meter is used to test the polarity of
battery? | dIedieit Y IdT AURHUITATST BIUTT UBRD HicR
TR STd?

A Moving iron ammeter | 10TR @ds! Hie?

B Moving coil voltmeter | €¢Tdd Bhiscl @leeH R

C Moving iron voltmeter | 8dTdd @Rds! @leTHIR

D Dynamo meter type wattmeter | STIHHI HIR YR
deHieR

Answer: B
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33 What is the voltage drop in resistor ‘R2’ in the series
circuit? | ATfcienT Afbentiter IeRex 'R2' Hed @RS 31T
fbdt 3mme?

%20

| I | LI
£
| v
==
1 1
RXOH R0
A 5 volt
B 10 volt
C15 volt
D 20 volt
Answer: B

34 Which is the application of series circuit? | TR
fear aTR HoTar 3me?

A Fuse in circuit | Gfdsereier Wt

B Voltmeter connection | @leeHIER BAdRM

C Electrical lamp in homes | TRiAed fagd féar

D Shunt resistor in ammeter | 37#leR weftet o TR

Answer: A

35 Which method is used for measuring 1 Ohm to 100K
Ohm range resistance? | 1 Ohm @ 100K Ohm 357 fgie~T
HISTUTATS BITdT Ugd aTuet STd?

A Substitution method | UfaeuTa" gga

B Kelvin bridge method | &fead f&isT ggd

C Wheat stone bridge method | d¢ @H fsi51 Ugd

D Voltmeter and ammeter method | @lecHIeR 31oT THieR

Jgd
Answer: C

36 What is the S.I unit of specific resistance? | fafei
UfdPRI S.| Thdd B 37Te?

A Ohm/cm 3iga/aHt

B Ohm/metre2 3iiga/HieR2

C Ohm-metre 3i1gA- HiX

D Micro ohm/cm2 AT 3i1gH/ 12

Answer: C

37 What is the value of resistance of the resistor? |

it UfAdR™ Hod B 3778?

CRAMEE ORANGE REQ BLVER

A 330 + 5% Ohm

B 3300 +10% Ohm

C 33000 + 5 % Ohm
D 330000 + 10% Ohm
Answer: B

38 What is the purpose of the shunt resistor ‘R2’ used in

series type Ohm meter circuit? | 30&7 Hiex Afbened e
3fSTEX R 9T 382 BT 37T8?

|
T

>

w()n

A To limit the current in the circuit | Gfdsereia fagq
yaTe Aaffed evararst

B To increase the value of meter resistance | Hiezeam
UfABR Je aIedquamETet

C To adjust the zero position of the pointer | Uiged! N
ferdt aarfsia erograrst

D To prevent the excess current in the circuit |
afdbereita sifafRes fagavare Aauamarst

Answer: C

39 Which electrical quantity affects the heat generated
in a conductor? | dsaeaed fAAfOT BIUT=IT 3WTAR BIoTT
fagga ywoTrRT 9RRoTH Bdl?

A Voltage | @lesT

B Square of the current | &3¢ =T a7f
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C Square of the resistance | Ufd@Rrmar af
D Current passed through it | EﬁiEFqTQHﬂFIT
Answer: B

40 What is the change in value of resistance of the
conductor, if its cross section area is doubled? | 3R AT
P TG & G Bl aR bsaea Asie~aedT edTd
P g&el Bldi?

A No change | Tl gga

B Decreases 2 times | 2 4T GHI &ldl

C Increases 2 times | 2 U¢ dT&al

D Decreases 4 times | 4 de5T BHT Blal

Answer: B

41 Calculate the voltage drop across the resistor ‘R4’ in
the circuit? | Gfdhemefiet TR ‘Re' atet @R gio=it
ITOTAT PRT?

Ry2E0 =400 =B
M
| |
_:'@
Flrﬂlﬂ
Ll L-£1
=y s
A48V
B72V
csov
D100V
Answer: D

42 What is the resistance of Light Dependent Resistor
(LDR), if the intensity of light is increased? | U
digar areea @rse f3u3e Isite (LDR) o UfddR fdbdt
3/ Ear

A Increases | ar&al

B Decreases | BHT &lal

C Remains same | a9 JTEaT

D Becomes infinity | &l 3Hd

Answer: B

43 Which formula is used to calculate the power of a DC
circuit? | St afdedt 2rcht MsUATATSt BioTd TF dToR
STd?

A Voltage x time | @5l x ds

B Current x voltage | & x @leest

C Current x resistance | @3¢ x Afd®BR

D Voltage x resistance | @leesl x UfdbR

Answer: B

44 Calculate the hot resistance of 200W / 250V rated
lamp. | 200W/250V 33 fGaar=ar TRH UfdbRT= TOMHT .
A3125Q

B 62.5

C31250Q

D 625 ()

Answer: C

45 What is the value of resistance in an open circuit? |
39 Tfbered fsie~aa Joa 1Y 31Me?

A Zero | [T

B Low | BHT

C High | 3=

D Infinity | 3Hd

Answer: D

46 Which resistor the lowest current flows in a parallel
circuit having the values of 50Q, 2204, 450  and 560Q
connected with supply? | 504, 220, 450 ( 3707 5600 =t
T RasARft sseiedr aHidR Tfbentd gafd o+t are
PIUTT ASER Wefd dTEVIR ?

A50 Q

B 220 Q

C450 Q

D 560 Q

Answer: D
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47 What is the specific resistance value of copper
conductor? | BIR beaetd fafig ufaie qea B 31me?
A 172 Ohm/cm3

B 1.72 Micro ohm

C 1.72 Micro ohm/cm3

D 1.72 Micro ohm/m

Answer: C

48 Which is inversely proportional to the resistance of a
conductor? | BV d3aeIAT UfABRIAT IXd THIUTT 31Ta?
A Length | idft

B Resistivity | UfaRrerdsdr

C Temperature | dTYHT

D Area of cross section | 1T AFMAA EABDS

Answer: D
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